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ASSOCIATESHIP EXAMINATION

AGRICULTURAL INSURANCE
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Answer EIGHT questions only. Question number TEN carries 16 marks but thlS isnot
compulsory. All other questions carry 12 marks each.
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1.. We give below data for Kharip Season for the year from 2002 to 2006 for an 16
areainsured under NAIS for the year 2008. .
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Years - 2002 2003 2004 2005 2006
Yieldkg/ha. | '

Rice 2800 2600 2390 2930 3000
Groundnut 1500 1350 1610 1760 1800

a) Whatis the value of threshold yield for Rice and Groundnut considering
these crops as high risk and low risk with M S P as Rs. 2,000 and Rs.
2,500 per quental respectivelly.

b) Calculate total premium payable if acturial premium for Rice Rs. 6.00%
and for Groundnut as Rs. 8.5% against their plate rate of Rs. 2.5% and
3.5% respectively considering 5% Rs. 2,50,000 for Rice and Rs. 1,50,000
for Ground nut.

c) Distinguish between Franchise and Excess.
d) Giveabrief note on Re-insurance.
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Answer any three : 4 each

a) What is the procedure for estimation of Crop yield under National
Agricultural Insurance Scheme ?

b) How milch cattle is valued ?

¢) Who are eligible to work as micro insurance agents and what is the
procedure of their appointment ?

d) How valuation of drought Cattle is done ?
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Answer any three : , 4 each
4a) How limits of Sum Insured are fixed for non-loanee farmers under NAIS.
b) Write three improvements introduced in modified NAIS (MNAIS)
over NAIS.
¢)  Which insurance Company can work as implementing agency for M NAIS.

d) Whatis the effect of climate on cattle ?
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What is Reinsurance ? Discuss . _ 4 each

a)  Agriculture Re-insurance.
b)  Benefits of Agriculture Reinsurance.
¢)  Most Common forms of reinsurance applicable to agriculture Insurance.
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What do you mean by Micro Insurance ? Give an account of : . 4 each
a)  Scope and Specification of Micro Insurance products.

b) How Micro Insurance Transacted ?

¢) Who are the Micro Insurance Agents ?
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Answer any two :

a) How premium rates are decided for insurance of Crop under NAIS ?
b) What is the procedure for assessment of losses under NAIS ?

¢) * Whatis the role of yield data under NAIS ?

Wﬁ‘wmmaﬁmm’(maﬁﬁaﬂf@)aﬁmﬁﬁ
O A oA ST B B A BT YA BT IS @/ ?

What are the challanges that insurance industry faces in implementation of
WBCISinIndia?
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What do you mean by Valuation of Cattle? Give an account of valuation of

different types of cattle.
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Why government should continue to support agricultural Insurance programmes
inCountry ?
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Why Crdp Insurance Programmes operate on Area Approach and not on
Individual Approach ?
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